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[) TTRockstars - 30 mirutes

2) Morning maths

3) Independent Reading - 30 .minutes
4) Spelling - 20 minutes

5) P.E. - Joe Wicks workout

Look carefully at the image
Read the questions .and then

gour Englin exercise hook.

B Ve g

Iwo step equations Video
Watch the wvideo - remember to pause .and

try the calculations .and problems when
Mou are asked to.
Worksheets

Then try the w.orkaheet bhefore you .check

AZ}OMI answersa

Answers

If you get stuck don't forget to send me or
Mr. Bright a .dojo message.

=T

Try something new - .ask the person who prepares
Mour meals to give you o fruit or yvegetable iyoune
never tried before. Write down .an accurate
description of what it tasted like. You might need a
few of these words: tangy, sweet, sour, sharp,
crunchy, soft, squidgy, chewy, smooth.



https://vimeo.com/428002477
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-1-Solve-two-step-equations-2019.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-1-Answers-Solve-two-step-equations-2019.pdf

Morning maths — Monday 22/6/20

35279x28 3/4 of a number is 66. What is the
number?
35279
X238

Hint — find 1/4 before finding the whole

What is 70% of 4507 3451+4
1) as remainder
2) as decimal

3) as fraction

Hint —70% is 7 x 10%




Solve two-step equations " @

o There is the some number of cownbers under eadh cup.

There are 16 counters in total.

o Here is a port-whole model. o
al Use v to represent the number of counters under each cup.

O 0 @ Write an equation in terms of v

a) Write an equation for the part-whale model By Solve the squation to find the wilue of 3.

b} Salve the equation ta work aut the value of ‘

€} How many counters are under each cup?

° Write an algebraic equation to represent each bor model.
i each mulilink culbe represents x, farm and solve an equation to Find the walues of & and k.

find the walue . al by
21 46

o T
OIOIONS




o Sokve the equations. Q o Alex ks v years old. Q

a) Sr+ 1 =31 d) 9=2v+8 Her friend Erett is 3 years alder.
The total of their ages is 25
How old are Alex and Brett?

b) 3r-3=9 e) 10g-2=45

Alex i Brett is

€ dp-1=3 fl 4+ 3y=28 o

)

a) Waork out the cost of one banana and ene anange.

o Dani thinks of & piumber.
She doubles it and adds 3
She gets the answer 15
a) Write an equation to represent Dani’s problem. One bonana costs One orange costs

b) Compare methods with a portmer. @
b Salve the equation to find her number.
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What does the flag represent? Why is it torn?

Wha mig ht ke trmﬁelling in the boat? WI'LH da you thirk this?

Where has the boat come from? Where is it going?

From the image, you cannot tell which part of the world the map s showing. Where do you think the map is of

and what significance does it have on the meaning behind the image?

The image has a very strong message and mood within it. There are subtle hints to portray a mood to the
reader.

a) What mood does the pleture create?

b) How does the weather in the picture support this?

c) What weather would be used to create an opposing mood?

The boat symbelises refugees in Europe. How might the image be used to persuade people to help?




The sea in the image is calm. Why might you change this if you want to persuade your readers, and what
effect may it have on them?

If the image was used to promote a political party, what might their message be to the voters?

Why is the boat in the centre of the image? Give two reasons.

10.

What might you ask semeone whe s travelling in the boat?

. The boat is made fram paper and is sﬂillng on the sea. What lmpllr_it meaning does this have?

12.

Why has the illustrator chosen to use paper rather than wood or plastic for the boat?

13,

What one word summarises your feelings about the image? Explain why you chose this word.

. Think of another story of a dﬂng EFOUS jOUrney. What mess age do these stories giv g?




5%’3 Marlborough Primary Class H.ome Tuesday
%ﬁi Academy 5/6D Learning 23/6/20
= e —

[) TTRockstars - 30 minutes r

2) Morning maths y-epnlu

3) Independenl: Reading - 30 minutes Look carefully at the words .and wse a dictionary .or the
internet to find definitions - rememhber to tell .me the w.ord

L) Spelling - 20 minutes class of each word - noun, verh, adjective, adverh

5) P.E. - Joe Wicks m.orkout Some .of these words will be hard to explain!

Eind pairs of numbers Video 0 aces: have .a look at
. this picture of a face made
Watch the wvideo - remember to pause .and ﬁomﬁwmdjvzgetablzzs.

try the calculations .and problems when

ou o o Tué nbakmg JOML O

face. You could drow different
Jruits and veg to make a foce
or octuwally make a face on a
plate with real pruit and

~veg. Share syour artw.ork on
spour portfolio.

Worksheets

Then try the w.orkaheet before syou check
AJOUL CUVEWRTA.

If you get stuck don't forget to send me
or Mr. Bright .a dojo message. Answers



https://vimeo.com/428002579
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-2-Find-pairs-of-values-2-2019-2.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-2-Answers-Find-pairs-of-values-2-2019-1.pdf

Morning maths - Tuesday 23/6/20

4387-2749 983,897 + 852,583

Hint — set out using place value

My number’s digits add to make 13. What is 6/10 of 14507?
My tens digit is even and greater than

my units digit. My number is less than
100, what could it be?

Hint — divide by the bottom — times by the top




Find pairs of values (2) @

° a and b are whaole numbers. @

Complete the table to show different possible values for a and &,

L] 1 2 3 4 5 & 7

o Closs & are trying 1o solve a numbber puzzle.
i‘Ilfj'lij‘I'==1ﬂ

The triangle
could be 3 and the
circle could be &

14

14 14 14 14

Do you ogres with Dexter?
Explain wihy.

o « and  are bath integers less than 15 but greater thon zero.

Ie-d=2

Complete the table to shew differant possible values for ¢ and o

b
The triangle
s worth 4 & 1 2 3 i 5

[I:hnru] 3 3

Wt is the valuwe of the crcle in Dona's number puzzke?

o 1

@ swd| 2 | 2| 2

¢] Find ather pairs of values that the triangle and circle coubd egqual.

Fird thiree pairs. b} Explain why there are no ather pessible values for ¢ and o
ale] ale
Alle
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o x and y are both multiples of 5 less than 100 o Aisha & buying sorme stationery for school.
If 2% = 3, cirche the possible values of x and v. She spends exacthy £1

List the possible combinations of pendls
and pens that Alsha could have bowght.
- ° Ron has four digit cards. @
Two of the cards have the same value.
- w» All of the cards are less than 10 but greater thon Zero.
All of the cards are add.

-

L]

& Thee sum of the fowr cards is 24

. ¥ N Find two poible sets of cards.
o Here s a rectangle. h 2
x and y are both integers. 1—1 Sat 1
The rectangle had g perimeter of 28 om. Sat 3
a) Write an equation to represent the perimeter of the rectangle.

b} List all the possible pairs of values for © and y. o - @

a) Find a pair of possible valwes for o and b.

0= h=

b) Wark with a partner to find 63 many pairs of valwes s Wou con. @
Compare andwers with o portner. How do you know youw hove @

e m




Look ,t}mou,gh the N,om,bxuar,g list ,oéP words which could bhe wsed to describe Wd@g’z& Enngsh Picture - what .do ,th@g mean?

Use .o dictiorary (ondine w.ord definition w.orks too ) to explain what they mean - make SUre Aou S MOUr oW words not just
copy. Also tell me the word class - verb, noun, adjective, adverh too

asylum

regional

displacement

resettlement

exile remittance
sanitation xenophobia
deterioration trafficking

humanitarian

persecution

Choose yowr fovourite b words and write a sentence for each one - try to also wse the fronted .adverhial,
expanded noun phrases and powerful verh skills we learned last week



i’%’? Marlborough Primary Class Home Wednesday

.{m}“"’ Academy 5/6D Learning 24/6/20
S-a-day

) TTRockstars - 30 minutes Q

2) Morning maths o

3) Independent Reading - 30 minutes mmgmmmmg

L) Spelling - 20 minutes uestions.

5) P.E. - Joe Wicks m.orkout

Corwert metric measures Video P “ Log-on to Purple Mash and try
Watch the wvideo - rememhber to poause .and try the Splatty Bug 2do.
the calculations and problems when you are

asked to. If its too tricky try the Princess
Worksheet and the frog from Chimp .coding.

Then try the w.orkaheet hefore you .check iypour

areavers Splatty Bug

If you get stuck don't forget to send me or Answers h d

Mr. Bright a .dojo message.



https://vimeo.com/428002669
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-3-Convert-metric-measures-2019.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-3-Answers-Convert-metric-measures-2019.pdf

Morning maths — Wednesday 24/6/20

| think of a number, subtract 12. Then
divide what | get by 4. My answer is 22.
What was my number? 36 ‘ 27 8 4 8

Hint — try to undo (reverse) the problem

My number is 56.2 75.2—-59 12
What is my number + 100?

Hint — use a place value grid Hint — Set out using place value




Convert metric measures @

o Heww imany centimetre cubes can you fit aleng a metre stide? Q

O e e e .

Whiat does this tell you? @

a Complete the sentences.

a) There are grams in 1 kilagram.
There are kilegrams in one tomnne.

b) Thare are millilitras in 1 litre.

t) There are millimetres in 1 centimetre
There are centimetres in 1 metre
There are metres in 1 kilormetre.

o Complete the bar models.

a)
1 km 1 ki 1 km 1 km
1,000 1.000 m
There are rr im 4 k.
sy
1
Tka | Thkg | Tky | Tkg | Tky | Tka [Fka
1,000 g | 1,000 g | 1,000 g
There are g in E% k.
° Complete the conversions.
al Z kg = g B) 11= ml
Skg= g 51 ml
10 kg = g 1Ml= ml
12kg = i

o A bog of dog feod weikghs 2.5 kg.
Write this weight in grams,




e What measurements are the armows painting to?

o Dora and Amir ore trging to convert 105 metres into millimetras,
Lakel therm on the number line.

You can multiply 1.05 by 100 1o

mm 0 1 5 + 13 4' El!.mmEf'I. it inbo centimetres, then
Y Ll Ll | multiply the product by 10 to convert
I + 11 11 1 + L 1 it oo millimetres.

em 0 1 2

You can just multiply

1.05 by 1,000
° Complete the conversions,

aj 10 mm = om mm = 1.1 cm Who do you agree with?
Explain your thinking. @
11 mrm = m ram = 10U em
@ What & the mos of one of the baxes?
mm = 11 ¢m
Giwe your answer in grams,
by 2.1 km = Ll 2,01 km = i)
2.001 ki = it 2011 km = i
o Write > , < or = to complete the statements. @ There are 1,000 kg in one tonne. @

al How many grams are there inone tonne?
al 100 m O 1 km b}y s11 O 5. 100 rril
10 m O 10 em EuirlOn.m?ml b) A cor weighs 1.3 tonnes.
Write the weight of the car in grorms.
101 mim O 101 em MSIOEMI

B Wt Row Matha J0I16




Use the clues inthe table below to complete the crossword.

1. Hostility and ill-
treatment because of race,
political views or religlon.

4. Conditions linked to
public health such as
sewage disposal and clean
drinking water.

7. To be barred from your

own country usually

because of political views.

2. To become progressively
worse,

5. To reduce (numbers of)
ofF remove.

8. Concerned with one
area or reglon.

3. Dislike and prejudice
against those from other
countries.

6. Concerned with human
welfare. Compassionate
and humane.

9. Extremely poor and
lacking any means to
provide for yourself,

Put a tick in each row to show the type of pronoun underlined in each sentence.

personal
pronoun

relative
pronoun

possessive
pronoun

The coats was hers, she was not leaving her
home without it.

Saleed was the one who suggested leaving home.

She suggested to them that they get in the boat
and leave for England.

Rita was adamant. It was too dangerous for
them to stay there any longer.

Add a prefix or suffix to each word below to make the word that matches the meaning.

meaning ward
among many countries national
having characteristics of a region region,
in a state of getting worse deterior
to admit again mittance
a persan that seeks to promote the welfare of others philanthrop

For each pair of words tick the one that has the correct spelling.

existence seperate existence

accommodation

existance existance

sep arate

accomodation




5°$°W"“’* Marlborough Primary Class , Thursday
E
ﬁ Academy 5/6D Rome Learning| 55/6/20
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[) TTRockstars - 30 minutes r

2) Morning maths

3) Independent Reading - 30 minutes

4) Spelling - 20 .minutes

5) P.E. - Joe Wicks w.orkout

We have used DADWAVERS! in class as a way of making
our A/v,rj,tin.g .more m,bexz/s,tm,g .

I've started a story - which DADWAVERS! Sentence openers
have [ already wsed? Can you finish the sory using the
missing DADWAVERS!

-

Ml kil E
Watch the wvideo - rememhber to poause .and
try the calculations .and problems when
Mou are asked to.

Then try the w.orkaheet before you .check
AJOUL CUVEWRTA.

If you get stuck don't forget to send me
or Mr. Bright .a dojo message.

Worksheet

Answers

=

What are flowers for?
Plants need pollen from other plants of the same type
Lo .make new seeds.
Read the pollination poster to find .out more. N.ow
can you answer these questions.

[. Why .are flowers colowrful .and smelly?

2. How does pollen get from one plant to another?



https://vimeo.com/428002822
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-4-Miles-and-kilometres-2019-2.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/06/Lesson-4-Answers-Miles-and-kilometres-2019.pdf

Morning maths — Thursday 18/6/20

7.82 x6 Find 40% of 12600.

7
X 6

.82

Hint: 40% =4 x 10%

87—-8.7 What are the next 4 numbers in this

sequence?

1020, 1012, 1004, _, _,




Convert metric measures

o How many centimetre cubes con you fit alang a metre stick?

@ ° Complete the bar models,
a)

®

N BN BN

Whaot does this tell you?

-a Complete the sentences.

a) There are

There are

bl There are

) There are

There are

There are

grams in 1 kilogram.

kilograms in ane tonmne.

millilitres in 1 litre.

millimetres in 1 centimetre

oentimetres in 1 metre.

metres in 1 kilometre.

&

1 km 1 km 1 km 1 kem
1,000 1,000 m
There are fr in 4 km.
b}
1
Tkg | Tka | Tkg | Tkg | Tka | Tkg [Fkg
1,000 g | 1,000 g | 1,000 g
There are g in E% kg.
o Complete the conversions.
a) 2kg= q B 11= imil
5kg= g 51= il
10 kg = q M= ml
12kg = ]

o A bag of dog food weighs 2.5 kg,
Write this weight in grams.




ﬂ What measurements are the arrows painting ta?
Label thern on the number line.

o Complete the conversions.

a) 10 mm = £Ff mm = 1.1 om
11 mrm = orn ram = 10.1 ern
mim = 11 ¢
bB) 2.1 km = m 2.01 kmn = i1
2.001 ki = i 2011 km = i1

ﬂ Wirite = , < of = to complete the staterments,

al 1Mm O 1 km b} 511 O 5. 100 ml
10 m O 10 cm WIOHE]?MI
10,1 mim O 101 om MSIOEMI

o Dora and Amir are trying to convert 1.05 metres into millimetres,

You can multiply 1.05 by 100 w0
comvert it into centirmetres, then
rmrultipgly the praduct by 10 1o convert
it into milliretres,

You can just multiply
1.05 by 1,000

Who do you sgree with?
Explain your thinking. @

@ What i the mos of ane of the boxes?

Give Your answer in grams.

@ There are 1,000 kg in ane tonne. @

a) How many grams are there in ane tenne?

b) A cor weighs 1.3 tonnes.
Wirite the weight of the cor in grams.




DADWAVERS! .are .o great waoy to vary sentence .openers and make writing .more interesting .and exciting.

’—-------------------------------~
/ RN
/ \

DADWAVERS!
Description
Action
Dialogue
Where N N
Adverb o~ -~
Verb
Estimation of time
Rhetorical Question
Simile or Metaphor

| Exclamation or onomatopoeia
\

S

e

\
S

-

~-------------------------------.




Which  DADWAVERS! Howve I already wsed? Use the rest to finish.

For what felt like howrs, she had bhalanced high .ahove the throne room,

waiting her chance to strike. Silently, she .clung to the ancient stone

work. Could she reach the evil tyrants hbed-chamber .and end his .cruel

rein hefore she waos disconvered? Click! One of her climhing pins




The Pollination Process

The flower's petals a Aftertheinsect hasfinished feeding, e
are brightly coloured it grows hungry again and moves

and its fragrant scent The insect e to a new flower.

attracts tnsects. in this case a

honeybee, arrives As the insect feeds on the nectar
on the flower to of the new flower, the pollen on its

collect nectar. body rubs onto the stigma.
This nectar is

a sweet liquid,

which makes Some of this pollen°
perfect  food then travels down the

. new flower's style and
for insects. .
into the ovary.

As the insect gathers the nectar, it e
rubs against the flower’s anthers,
which pass pollen onto the body of

the insect.
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5@’3 Marlborough Primary Class Home Friday

o~ Academy 5/6D Learning 26/6/20
S-a-day

|) TTRockstars - 30 .minutes -

2) Morning maths Friday - hig write

3) Lndependent Reading - 30 minutes
L) Spelling - 20 minutes
5) P.E. - Joe Wicks workout

Use the picture as a stimulus to
continue writing the story - into
Mour exercise hook .or logon to
Purple Mash .and .complete the

Lighthouse2.do

Fud,a,g/s ,pf,oblzm/s can bz ;o,und. on the BBC Bitesize
wehsite.

Scroll to the hottom of the wehblink for the answers.

Cridais Probl

Hove a look at the diagram showing the life cycle
of a flowering plant.

Can you make your own diagram for .o different
type of Plowering plant? If youre stuck for an
idea, do an apple tree!



https://www.bbc.co.uk/bitesize/articles/zkywr2p

Morning maths — Friday 26/6/20

What is the area of this triangle?

32cm

13cm

Hint — area = (length x width) + 2

What is 2/7 + 8
8

Criss-cross (txb=t bxt=0b)

Can you simplify

What is 2/3 x by 9 — don’t forget to
simplify your answer.

2 9

X
I

Hint: whole number to fraction—txt bxb

24

6672




Fridoy - big write - finish the story in your exercise bhook or use the Lighthouse2do

Sktory Skarter

The storm had been raging for howrs.

Like .o hesieging .army tor. ing .an
enemys ramparts, the wowves hattered on

A group of men huddled in one of the
cylindrical shaped rooms, plinching every
time a wowve rocked the lighthouse. Their
hearts were in their mouths with every
walls to come tumbling down at .any
moment.

They turned their heads .and listened to
the sound of the storm. What they heard
was truly terrifying...

How many DADWAVERS! can you wse in your story? - Cross them .off os you write.

D

A

D

W

A

V. £ R S

© ey,




Challenge | Challenge 2

Rani has 35p Ax‘=25 .x.=|00

I have IOp more
{ than Rani. g
Work out the value .of
I have 20p less
than Eva. . 5 .

How .much does Exva have?

Challenge 4

Challenge 3

A sequence is made up of three 2-digit numbers.

The sequence increases by eight each time. These are the digits that make up
the three numbers.

023445

Work out the numbers in the sequence

What fraction

of the square
is shaded?




Challenge 5

The mass of an empty jaris 470 g.

G

e

& marbles are placed in the jar.

OOOOOD

The total mass of the jar and marbles is now 1.1 kg.
Two of the marbles are removed.

What is the mass of the jor and marbles now?

Challenge 6

Wark out the value of B.

132

>

Challenge 7

The pie chart shows the number of visitors to @ museum each day.

How many people visited on Friday?




The Flowering Plant Life Cycle

Seeds are spread out
so they can grow
where they are not
fighting for space with
the parent plant.

The seed starts to
grow when conditions
are suitable.

Th llen i
¢ porien th Roots grow,

usually
underground.

the flowers is
used to make
seeds.

A stem and leaves
form, and the plant
makes its own food
(photosynthesis).

Photo courtesy of Jim Champion, llee_wu, solylunafamilia, OakleyOriginals, Crispin Semmens, dinesh Valke (@flickr.com) - granted under creative commons licence - attribution

visit twinkl.com.au @‘
| venngt




The Flowering Plant Life Cycle

Complete by drawing a picture and writing a title and explanation for each stage.




This weeks web-links

Monday Maths Video

https://vimeo.com/428002477

Monday Maths worksheets

https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-1-Solve-two-step-equations-2019.pdf

Monday maths answers

https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-1-Answers-Solve-two-step-equations-2019.pdf

Tuesday Maths - video

https://vimeo.com/428002579

Tuesday Maths activity 1

https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-2-Find-pairs-of-values-2-2019-2.pdf

Tuesday Maths answers

https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-2-Answers-Find-pairs-of-values-2-2019-1.pdf

Wednesday Maths - video

https://vimeo.com/428002669

Wednesday maths —
activities 1

https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-3-Convert-metric-measures-2019.pdf

Wednesday maths answers

https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-3-Answers-Convert-metric-measures-2019.pdf

Thursday maths — video

https://vimeo.com/428002822

Thursday maths worksheet 1

https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-4-Miles-and-kilometres-2019-2.pdf

Thursday maths answers

https://resources.whiterosemaths.com/wp-content/uploads/2020/06/Lesson-4-Answers-Miles-and-kilometres-2019.pdf

Friday Maths

https://www.bbc.co.uk/bitesize/articles/zkywr2p

Friday Worksheet



https://vimeo.com/428002477
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-1-Solve-two-step-equations-2019.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-1-Answers-Solve-two-step-equations-2019.pdf
https://vimeo.com/428002579
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-2-Find-pairs-of-values-2-2019-2.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-2-Answers-Find-pairs-of-values-2-2019-1.pdf
https://vimeo.com/428002669
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-3-Convert-metric-measures-2019.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-3-Answers-Convert-metric-measures-2019.pdf
https://vimeo.com/428002822
https://resources.whiterosemaths.com/wp-content/uploads/2020/05/Lesson-4-Miles-and-kilometres-2019-2.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2020/06/Lesson-4-Answers-Miles-and-kilometres-2019.pdf
https://www.bbc.co.uk/bitesize/articles/zkywr2p

